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Note : 1) All questions arc compulsory.

1i) Ilustrate your answers with
labelled diagrams wherever

necessary

1il) Marks allotted to each question
are given against it.

| o e e s SeR-gfer | e

%) srER o fawm @ T e @
forads armae aveae T AR €
i) ety o fafa=a &
ii) FETRAT UF SdREad @
i) SRS o g
iy) Qe Td HIET H | 1

934571



Ly

934571



376{GO)

: e in
Choose the correct option and wrn
1.

your answer-book

p) Genetics ;s a branch of Biology,

which deals with the study of

ij heredity and variations

ii) heredity and mutation

iii) similarities and dissimilarities
iv) evolution and conservation. 1

B) Who proposed 'Big Bang Hypothesis'

related with origin of universe ?

i) Kant and Laplace

iijj Stanley Miller

iii) A.L Oparin

iv) Abbe Lemaitre. 1
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C) Btcotton is &
i) Cloned plant
ii) Transgenic plant
i) Hybnd plant
iv) Mutated plant. 1

D) Which of the following is state bird

of Uttar Pradesh ?
i) Peacock .

i) Parrot

iii) Sparrow

iv) Sarus crane. 1

2. Sved & IO HEU ¥ U A anmem TR W
fed 2 WWER AW SRl TR % A
e b+3
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5 Name any (WO dominant and recessive
I characters studied by Mendel lnl pef
plant. | J + =
3. g muifE T e gfeet 4 S FT nlq
e ] a1 A A L4
3. Mention the genotypic and phenotypic

S.

e domnance and

1.1
2 t3

ratio in incomplet

co-dominance.

St ) ety 1 TPER HEA 16 7‘371313[

1

a=—s

mewaﬂﬂ;mﬂaﬂaﬁl 5+

Who gave naturalistic theory of origin of

life ? Give the name of his book with

year of publication. %.'.%

< gy it fermiaregd 1 T g aReEa

Fel gl & 2 1.1
ALY

% Qe e wioke | favg i) £+

934571

Scanned with CamScanner



376{GO)

7
, Je
5. Where are T and B lymphocytes fm;mtl
—_—
and matured ? 37 2

OR

Differentiate between active and passive

1 1
I ] -t
ummumty. 27 2

E,_/ T=9. T U, o4l Ims. g. 9. T W il

F‘I’l-t_ﬂ'ﬁiql E"l':g
T
(€ 32 g% W 0% Ure feooh fefey | ]

6. What are the full forms of WWF and

1,1
IUCN 2 5 +3

OR

Wnte a short note on Red Data Book. 1

-/ F T W Sy Yo 56 il § 2
- - - e s o 1 1
To% UHETT % 397 = Soohd SN I3 + 13
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7.  Which protozoall cau T eventive
dysentery 2 Menton oy
measures e
g wi@d it % @ -
/' v A E
8 What do you understand by T -situ al'fd
| ex situ conservation of wild anlmals+11-11
India ? ﬁ 1v *
9. mﬂﬂﬁﬁﬂﬂ-uﬂﬁﬁﬁmﬁm@ﬂﬁmj
| i R 1 +
9-. Differentiate between s&x-inﬂuenced and
sex-limited traits in human. 1+1
10. ﬁﬁmaﬁzqﬁﬁm%qﬁﬁfqﬁm% )

1
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12.
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Which insect transmits the malan

parasite ? Comment upon diﬁeren: typﬂls
of malaria. 2 + 1 7]
OR
2

Comment upon alcoholism.

o FE $ w9 4 g W T (e

LR f 2
YT

AFE e § REeE B g e | 2

Give an account on microbes as

.

biofertilizers. 2
OR

Describe the role of animal husbandry in

human welfare. 2
TIROE T & ? pBR 322 W UH [cWuit
fefEa | 11l
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= et =L (SCID) CEI
s 1 +1
Faeare ?

‘herapy *
14. What do you mean by 8€1€ therap

combined JMMmuno-

1+ 1

How IS severe

deficiency (SCID) diseast treated ?
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TG | 14+ 2+ 2 ||
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-

15. Define organic evolution. Discuss any

two evidences in favour of organic

¢volution in detail. 1+2+2
OR

Comment upon any two of the following :

1) Wallace chart

11} Natural selection

i) Modern man. 2'21 + 2“91‘

ngﬁfmmﬁwﬁmu Tdo Uo THUE @l
AN HISH H Yo F el Hifeg )

2+1% +13
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/fwﬂrﬂrﬂ@ F ¥
Wﬁﬂ’lmrﬁ' 07 I | 1 +4

initiation and

7 gtouAele A9 e

16. Discuss the role of RNA,

termination codons in protein synt
I
2+137 + l'%

hesis.

OR

What is DNA ? Descnbe double helical

structure of DNA molecule. 1 +4
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Instruction : First 15 minutes are allotted for

the candidates to read the

question paper.
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3ifeha & | |

All questions are compulsory.

n)  Hlustrate your  answers  with

labelled diagrams wherever
NCCessary,

m) Marks allotted to cach question
are mentioned against it.
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Choose the correct option and write in
uRataa fear ser &

your answer-book :

A) Polyadelphous condition is found in
e o
1) Epicalyx
ili) FSHEE F gRy i '
1) Gynoecium
iv) 9 I |t 1
i 1) Androecium
M FrefefEs § ® 99 oy & gor 3R
% 21§ WE g 2 ? iv) Corolla. ]
i) e ,/,) Tefagy : B) Nitrate present in the soil is reduced
i) @er iv) TR | 1 to nitrogen by
9) T e et & i) _Rhizobium
i) ¥ | 1)  Azotobacter
i) Fawd

i) Pseudomonas

- iv) All of these.
iv) 3TIgAETST Oty ]

5817684 [ Turn over 581764



377(62) 377(G2) 6

: 3 F T amErE o’
C)  Which of the following plays role in i AR # m
. 89
opening and closing of stomata 2 :
i) Calcium 3. What is the role of cyanobacteria in the
soil fertility ? 1
ii)  Potassium 2 L
4. TYEIE EETETE w7 g 2 1
i) Iron .
4. What is leguminous haemoglobin ? 1
iv) Sulphur. 1 5. EEW AR L 2 1
http://www.upboardonline.com
D) Double fertilization occurs in 5. 'What is food-web ? 1
i) Algae 6. ARAZTEE O FE 2 1
i) Fungi 6.  What is isotonic solution ? 1
iii) Angiosperms 7. gf"’-"" W #ed 7 7 [Fdl U YR & ‘L{Wﬂﬂ
| % 9% 4 fArEn | 14 1%
iv) Gymnosperms. 1
\ AT
2. IMifAEHYT T & 2 1
S TSR & W91 U6 07 % AR fefan |
2. What is ammonification ? 1 Uq 1oy
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7. What is cndosperm ? Describe any onc of 9. What part of the photosynthetically
its tvpes. .;. 4 1% active radiation (PAR) is trapped by
plants ? 2
OR

10T 39RT & Rl & o fafve 3uEt &

Describe the structure and properties of -

Ter 9 Ieoi@ FAT | 2
enzvmes. 2
10. Describe some suitable measures for the
8. T=leiEs &1 A Hifg 1+ 1 improvement of food production in brief.
. 2
F) EIEIUNAEH
) . 11. Fietga 51 faifea siftau 1+1
q) ¥ ayg | .
F) AR o faged
8. Describe the following : 1 +1 7)) faw vd wE
a)  Hydroponics 11. Differentiate between the following :
b) Water potential. 3 ¥
9. S X i B T U T a) Transpiration and Guttation
FHE 5 b) Diffusion and Osmosis.
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12. Whatis the importance of Vernalization
n‘’

377(Gz)

13.hﬁﬁﬁzqmw%mml 2
. 2
Sgar

[
1+1]

13. Describe any two insectivorous plants. 2
OR

What is fermentation ? Describe lactic
acid fermentation. 1+1

Wﬁam%mwﬁmm

2
Aqar
Freferfaa W s o feuit ferfg - 1+1
%) 39 e yarm
g) 3H HaEy |
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14. Describc different

succession.

OR

Write short n

steps

otes on the folloWing:

of ccologica1

2

1+1

a) Solid waste management

b) Ozone depletion.

15, fr=tetes % I i ¢

1
l§+ 1§+2

A) URY g H1 Hgcd aargy |

@) TAE HE 2

M o g )
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. Answer the followine .
]5 OOWlng- l%#l%+2 l+]+l+]+]

a) Write the &) dgYUIdl

importance of blam Ll
§) [SEias 3TA

hormones.
) FE
b)  What is root pressure 2 U) UeM § Wi e
J %) de-FEA |

What is vegetative reproduction ?
16. What is air pollution ? What are the

OR
What is the function of chlorophyll in

photosynthesis process ? Describe its

causes of air pollution ? Discuss its
effect on human health. 1 +2+2

OR "

Write short notes on the following :

1+1+1+1+]

light reaction. 1+4
a) Polyembryony
W@W & 299 UENYT % HRT 1§ 2 b) Gibberellic acid
. . c) Lenticel

e @I W 359 T F) fadee i | ) .

’ d) Conserved energy in ATP,
14 242 e) Bt-crops.
Agar
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